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Ouedion 1

(a)

(b)

(©

Some countries choose to use fixed exchange rate system. Discuss why they do o,
and what are the implications
[ 6 marks ]

In July 1944, representatives of 44 ndions gathered a Bretton Woods, New
Hampshire, to discuss and design the postwar internationd monetary sysem which
will replace the gold sandard. Describe how Bretton Wood system works and
brifly give the advantages and disadvantages of the sysem.

[ 6 marks ]

On September 25, 1999, Jurong Chemicd, a Singgporean-based company, sold
$G$2,500,000 of agriculturd pedticide to Pekistani AgriChem, paysble in three
months at Overseas Chinese Banking Corp. in Singapore. The sale was
denominated in Pakigani rupees a a time when the rupee traded a 36.56 rupees
per Singapore dollar. On October 22, 1999, due to an action by the Pakistani’s
Centrd Bank, the rupee devaued to 40.22 per Singapore dallar.

I Wha was the percentage amount of devaduation of rupee agans Singapore
dollar?
i. Wha was the Singgpore dollar loss experienced by Jurong Chemicd?
When was it experienced?
111, Weas the loss in (i) aove, of a transaction, trandation, or operaing neture?
Explan.
[ 8 marks]

Puedion

(2)

(b)

Why ae forward soreeds on lesstraded currendies larger than on heavily traded

curencies?

[ 3maks]

What is the difference between the immediae effect and the longterm effect of
direct invesment by foregnes on a country’s bdance of payments, when the
direct invesment is in heavily export-oriented activity such as all exploraion and
devdopment? Would it meke any difference if the indudry into which direct
invesment occurred were involved in the production of a good the country hed

previoudy been importing?

[ 10 marks]

.3

477




()

11,

[AFP365]

Both Mdaysa and Thaland produce D4 durian. A kilogarm of that fruit sdis in
Mdaysa for RM18. The same durien sls in Thaland for B100.

According to purchasing power parity, what should be the Malaysian
ringgit/Thailand baht spot exchange raie?

Suppose the price of D4 durian in Mdaysa is expected to rise to RM20 over
the next year, while the price of the fruit in Thaland is expected to rise to
B118. If this is the cass, what should be the one-year forward ringgit/baht

exchange rae?

Based on your answers in i and i @ove and the assumption thet the current
interest rate in Mdaysa is 6% for notes of a oneyear maurity, what would
you expect current Tha interest rates to be?

[ 7maks]

Question

(a)

(b)

In the early1990s, many Taiwanese manufacturers, especialy in the semi-
conductor and consumer dectronics indudries, have s&t up manufecturing faalities
in South-eest Ada egpeddly Maaysa and Thalland, as a way to hedge agang the
opearaing exposure of continuing to manufacture in Tawan.

I. What has led to this trend and how does the South-east Asian
manufacturing base work in prindple?

. Wha assumptions are caiticad to this drategy working effectivdy as a
hedge?

1. How dependable are these assumptions over the long run?

[ 10 marks |

The current spot rate for Dutch Guilder and US dollar is NGL1.9200/$. The three-
month forward quote is NGL1.9000/$. You bdieve in three months the spot rate
will be NGL1.8800/$, and you have $100,000 with which to speculate. Any bank
with which you conduct a fowad market transaction will want 100% initid
margin; thet is, you will be required to depogt the amount of any transaction in a
certificate of depost.

llludrate two different ways of speculaing, and cdculae the dollar profit to be
mede by each method. Assume the threeemonth rate of interest for depodts or
lending in guilders is 4% per annum and in U.S. dallars is 8% per annum. For each
way of gpeculating, explan the risks involved.

[ 10 marks ]
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Ouedion 4

(2)

(b)

(©)

Why might there be departures from purchesng power paity even if the law of
one price halds for every commodity?
[ 6 marks ]

An invegor hold an 85 percent Swiss franc/US dallar dud-currency bonds that
pay $666.67 a maurity per SF1,000 of pa vdue Wha is the implict SH$
exchange rae & maturity? Will the investor be better or worse off & maturity if the

actud SH/$ exchange rate is SF1.35/$1.00?

[ 7 marks )

Guanabara Cearvga, SA., a Brazllian soft drink company, was acquired by Coca
Cola of U.S Its bdance shest, in Brazlian reds (R$), for January 1, 1999, is
shown below. The exchange rate on tha date was R$1.0546/USS.

Asss Ligdlities and Owner's Equities

Cash R$120,000 Current liabilities R$100,000
Accounts recavables 240,000 Long-term debt 180,000
Inventory 180,000 Common  equities 580,000
Fixed assts 320,000

R$860,000 R$860,000

I. What is Guanabard's contribution to the trandation exposure of its parents

on Jenuary 1, 1999, usng the current rate method? (Give your answer in
both currencies)

i. Cdaulae the trandation loss its parent would experience if the exchange
rate on Dec 3 1, 1999 were R$1.2500/US$. Assume dl red accounts reman
as they were a the beginning of the year.

[ 7 marks ]

Quedtion

(a)

Deders ae an important party in a swap transaction. In doing their job, they are
exposed to some kinds of risks Discuss five types of risk faced by these deders in
the swap market.

[ 6 marks]
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(®) A newly-wed couple from Singgpore, Mr. and Mrs Leeg, plan to honeymoon in
Penang in three months After cdeulating medls, accomodation and trangportation,
they expects the totd codts of the honeymoon to be RMS5,000. They knows that the
exchange rae between Mdaysan ringgit and Singgpore dallars has not been dable
recertly, s0 they needs to hedge agang any change in the S$/RM. After doing
some informaion search, they gather the followings the oot exchange rae is
8$0.60/RM, 3-month forward rate is $$0.63/RM, 3-month cal option on RM has
an exacdise rae of S$0.64/RM for a premium of $S$0.05 per RM, the 3-month
interest rae is 6 percant in Singgpore and 4 percent in Mdayda They expect
future spot rate to be the same as the forward rate.

Cdculae expected Singgpore dallar cost of buying RMS5,000 if they choose
to hedge by a cdl option on RM.

i Cdculate the expected Singapore dollar cogt of buying the same amount of
ringgit if you decide to hedge usng forward contract.

it At wha future spot exchange rae will they be indifferet between the
forward and option market hedges?
[ 8 marks }

ion 6

(@  Why do you think that futures markets were developed when banks dreedy offered
forward contract? What might currency futures offer which forward contracts do
not? As a hedger, which of the two would you prefer and why?

[ 6 marks]

(b)  Wha is the payoff if you (i) buy and (if)write a cdl option, assuming there is no
transaction cods? Draw and labd the profiles.

[ 4 marks ]

(¢) Mdaysa has pegged its ringgit agang the U.S dolar Snce September 1998.
Discuss the pros and cons with regards to such action. In your opinion, have the
country’s policy mekers mede the right decison to peg the ringgit? Give your
asessmat on the achievements of the palicy o far by giving some examples or
evidence you know.

[ 10 marks ]
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